# Common Fixed Points for Generalized Weakly Contractive Mappings in G-Metric Spaces

Sushanta Kumar Mohanta, Department of Mathematics, West Bengal State University, Barasat, 24 Parganas(North), Kolkata-700126, West Bengal, India

Abstract: The existence of points of coincidence and common fixed points for a pair of self mappings satisfying generalized weakly contractive conditions in G-metric spaces is proved. Our results are generalization and extension of several well-known recent results related to fixed point theory.

*Keywords*: G -metric space, altering distance function, point of coincidence, common fixed point.

### Mathematics Subject Classification (2010): 54H25, 47H10.

### I. INTRODUCTION

Metric fixed point theory plays an important role in mathematics and applied sciences. Some generalizations of the usual notion of a metric space have been proposed by several authors. One such generalization is a G-metric space initiated by Mustafa and Sims [11]. Moreover, they presented several interesting and useful facts about G-metric spaces, illustrated with appropriate examples. Thereafter, a series of articles about G-metric spaces have been dedicated to the improvement of fixed point theory. In 1997, Alber and Guerre-Delabriere [2] introduced the concept of weakly contractive mappings in Hilbert spaces and proved some fixed point theorems in this setting. Rhoades [16] showed that most of the results claimed by Alber and Guerre-Delabriere [2] are also valid for any metric spaces. In a very recent paper [1], the author established some fixed point theorems for mappings satisfying generalized weakly contractive conditions in G-metric spaces. In this work, we obtain sufficient conditions for existence of points of coincidence and common fixed points for a pair of self mappings in G-metric spaces under weakly contractive conditions related to altering distance functions. Our results generalize and extend some results of [1], [4], [12], [13], [16], [20]. Finally, some examples are presented to illustrate our results.

# II. PRELIMINARIES

We present some basic definitions and useful results for G-metric spaces that will be needed in the sequel.

**Definition 2.1.[11]** Let X be a nonempty set, and let  $G: X \times X \times X \rightarrow R^+$  be a function satisfying the following axioms:

- $(G_1) G(x, y, z) = 0 \text{ if } x = y = z,$
- $(G_2)$  0 < G(x, x, y), for all  $x, y \in X$ , with  $x \neq y$ ,
- $(G_3) \ G(x,x,y) \leq G(x,y,z), \ for \ all \ x,y,z \in X, \ with \ z \neq y,$
- $(G_4)$   $G(x, y, z) = G(x, z, y) = G(y, z, x) = \cdots$  (symmetry in all three variables),
- $(G_5)$   $G(x, y, z) \le G(x, a, a) + G(a, y, z)$ , for all  $x, y, z, a \in X$  (rectangle inequality).

Then the function G is called a generalized metric, or, more specifically a G-metric on X, and the pair (X,G) is called a G-metric space.

**Proposition 2.2.[11]** Let (X,G) be a *G*-metric space. Then for any x, y, z, and  $a \in X$ , it follows that

- (1) if G(x, y, z) = 0 then x = y = z,
- (2)  $G(x, y, z) \le G(x, x, y) + G(x, x, z),$
- (3)  $G(x, y, y) \leq 2G(y, x, x),$
- (4)  $G(x, y, z) \le G(x, a, z) + G(a, y, z),$
- (5)  $G(x, y, z) \leq \frac{2}{3} (G(x, y, a) + G(x, a, z) + G(a, y, z)),$

(6) 
$$G(x, y, z) \le G(x, a, a) + G(y, a, a) + G(z, a, a).$$

**Definition 2.3.[11]** Let (X,G) be a *G*-metric space, let  $(x_n)$  be a sequence of points of *X*, we say that  $(x_n)$  is *G*-convergent to *x* if  $\lim_{n,m\to\infty} G(x,x_n,x_m) = 0$ ; that is, for any  $\varepsilon > 0$ , there exists  $n_0 \in N$  such that  $G(x,x_n,x_m) < \varepsilon$  for all  $n,m \ge n_0$ . We refer to *x* as the limit of the sequence  $(x_n)$  and  $x_n \to x$ .

**Proposition 2.4.[11]** Let (X,G) be a *G*-metric space. Then, the following are equivalent:

- (1)  $(x_n)$  is G-convergent to x.
- (2)  $G(x_n, x_n, x) \to 0$ , as  $n \to \infty$ .
- (3)  $G(x_n, x, x) \to 0$ , as  $n \to \infty$ .
- (4)  $G(x_m, x_n, x) \to 0$ , as  $m, n \to \infty$ .

**Definition 2.5.[11]** Let (X,G) be a *G*-metric space, a sequence  $(x_n)$  is called *G*-Cauchy if given  $\varepsilon > 0$ , there is  $n_0 \in N$  such that  $G(x_n, x_m, x_l) < \varepsilon$  for all  $n, m, l \ge n_0$  that is if  $G(x_n, x_m, x_l) \to 0$  as  $n, m, l \to \infty$ .

**Proposition 2.6.[11]** In a G-metric space (X, G), the following are equivalent.

- (1) The sequence  $(x_n)$  is G Cauchy.
- (2) For every  $\varepsilon > 0$ , there exists  $n_0 \in N$  such that  $G(x_n, x_m, x_m) < \varepsilon$  for all  $n, m \ge n_0$ .

**Definition 2.7.[11]** Let (X,G) and (X',G') be *G*-metric spaces and let  $f:(X,G) \to (X',G')$  be a function, then *f* is said to be *G*-continuous at a point  $a \in X$  if given  $\varepsilon > 0$ , there exists  $\delta > 0$  such that  $x, y \in X$ ;  $G(a, x, y) < \delta$  implies  $G'(fa, fx, fy) < \varepsilon$ . A function *f* is *G*-continuous on *X* if and only if it is *G*-continuous at all  $a \in X$ .

**Proposition 2.8.[11]** Let (X,G) and (X',G') be *G*-metric spaces, then a function  $f: X \to X'$  is *G*-continuous at a point  $x \in X$  if and only if it is *G*-sequentially continuous at *x*; that is, whenever  $(x_n)$  is *G*-convergent to x,  $(fx_n)$  is *G*-convergent to fx.

**Proposition 2.9.[11]** Let (X,G) be a *G*-metric space. Then, the function G(x, y, z) is jointly continuous in all three of its variables.

**Definition 2.10.[11]** A G-metric space (X,G) is said to be G-complete (or a complete G-metric space) if every G-Cauchy sequence in (X,G) is G-convergent in (X,G).

**Definition 2.11.[10]** A mapping  $f:[0,\infty) \to [0,\infty)$  is called an altering distance function if the following properties are satisfied:

(i) f is continuous and nondecreasing,

(*ii*)  $f(t) = 0 \Leftrightarrow t = 0$ .

**Definition 2.12.[3]** Let T and S be self mappings of a set X. If w = Tx = Sx for some x in X, then x is called a coincidence point of T and S and w is called a point of coincidence of T and S.

**Definition 2.13.[9]** The mappings  $T, S : X \to X$  are said to be weakly compatible, if for every  $x \in X$ , the following holds:

$$T(Sx) = S(Tx)$$
 whenever  $Sx = Tx$ .

**Remark 2.14.[15]** The concept of weak compatibility is known to be the most general among all commutative concepts in fixed point theory. For example every pair of weakly commuting self maps and each pair of compatible self maps are weakly compatible, but the reverse is not always true. In fact, the notion of weakly compatible maps is more general than compatibility of type (A), compatibility of type (B), compatibility of type (C) and compatibility of type (P). For a review of those notions of commutability, see [8].

**Proposition 2.15.[3]** Let *S* and *T* be weakly compatible self maps of a nonempty set *X*. If *S* and *T* have a unique point of coincidence y = Sx = Tx, then *y* is the unique common fixed point of *S* and *T*.

**Definition 2.16.[13]** Let (X,G) be a *G*-metric space and *T* be a self mapping on *X*. Then *T* is called expansive if there exists a constant a > 1 such that for all  $x, y, z \in X$ , we have

 $G(Tx, Ty, Tz) \ge aG(x, y, z).$ 

**Theorem 2.17.[16]** Let (X, d) be a complete metric space, and let  $T : X \to X$  satisfies  $d(Tx, Ty) \le d(x, y) - \varphi(d(x, y))$ 

for all  $x, y \in X$ . If  $\varphi: [0, \infty) \to [0, \infty)$  is a continuous and nondecreasing function with  $\varphi(t) > 0$  for all  $t \in (0, \infty)$  and  $\varphi(0) = 0$ , then *T* has a unique fixed point.

# III. MAIN RESULTS

Our first main result is the following.

**Theorem 3.1.** Let (X,G) be a *G*-metric space and let  $\psi$ ,  $\varphi$  be altering distance functions. Let the mappings  $T, f: X \to X$  satisfy

$$\psi(G(Tx, Ty, Ty)) \le \psi(G(fx, fy, fy)) - \varphi(G(fx, fy, fy))$$
(3.1)

for all  $x, y \in X$ . If  $T(X) \subseteq f(X)$  and f(X) is a *G*-complete sunspace of *X*, then *T* and *f* have a unique point of coincidence. Moreover, if *T* and *f* are weakly compatible, then *T* and *f* have a unique common fixed point in *X*.

**Proof.** Let  $x_0 \in X$  be arbitrary and we construct a sequence  $(fx_n)$  by  $fx_n = Tx_{n-1}, n \in N$ . This is possible since  $T(X) \subseteq f(X)$ . We assume that  $fx_{n+1} \neq fx_n$  for all  $n \in N$ . If  $fx_{n+1} = fx_n$ , for some n, then  $Tx_n = fx_n = v$ , say. This shows that v is a point of coincidence of T and f.

For any  $n \in N$ , we have by using (3.1) that

$$\begin{aligned} \psi(G(fx_n, fx_{n+1}, fx_{n+1})) &= \psi(G(Tx_{n-1}, Tx_n, Tx_n)) \\ &\leq \psi(G(fx_{n-1}, fx_n, fx_n)) - \varphi(G(fx_{n-1}, fx_n, fx_n)) \quad (3.2) \\ &\leq \psi(G(fx_{n-1}, fx_n, fx_n)). \end{aligned}$$

We claim that

$$G(fx_n, fx_{n+1}, fx_{n+1}) = G(fx_{n-1}, fx_n, fx_n).$$

For, otherwise  $G(fx_{n-1}, fx_n, fx_n) < G(fx_n, fx_{n+1}, fx_{n+1})$  implies that

$$\psi(G(fx_{n-1}, fx_n, fx_n)) \le \psi(G(fx_n, fx_{n+1}, fx_{n+1})), \psi$$
 being nondecreasing

This together with (3.3) imply that

$$\psi(G(fx_n, fx_{n+1}, fx_{n+1})) = \psi(G(fx_{n-1}, fx_n, fx_n)).$$

Thus, we obtain from (3.2) that

$$\varphi(G(fx_{n-1}, fx_n, fx_n)) = 0.$$

By definition of  $\varphi$ , we have  $G(fx_{n-1}, fx_n, fx_n) = 0$  and so  $fx_n = fx_{n-1}$  which is a contraction. This shows that

$$G(f_{x_n}, f_{x_{n+1}}, f_{x_{n+1}}) \le G(f_{x_{n-1}}, f_{x_n}, f_{x_n}).$$
(3.4)

Put  $t_n = G(fx_n, fx_{n+1}, fx_{n+1})$ , then from (3.4), we get  $0 \le t_n \le t_{n-1}$ . Thus, the sequence  $(t_n)$  is non-increasing and bounded from below. Hence it converges to some  $r \ge 0$ .

Taking limit as  $n \to \infty$  in (3.2) and using continuity of  $\psi$  and  $\varphi$ , we obtain

$$\psi(r) \le \psi(r) - \varphi(r),$$
  
which implies that,  $\psi(r) = 0$ . Hence by a property of  $\varphi$ , we get  $r = 0$ . Then, we have  
$$\lim_{n \to \infty} G(fx_n, fx_{n+1}, fx_{n+1}) = 0.$$
(3.5)

For  $n, m \in N$ , n < m, we have by repeated use of the rectangle inequality and condition (3.5) that

$$G(fx_n, fx_m, fx_m) \le G(fx_n, fx_{n+1}, fx_{n+1}) + G(fx_{n+1}, fx_{n+2}, fx_{n+2}) + \dots + G(fx_{m-1}, fx_m, fx_m)$$
  

$$\to 0 \text{ as } n \to \infty.$$

So, it follows that

$$\lim G(fx_n, fx_m, fx_m) = 0 \text{ as } m, n \to \infty.$$

For  $n, m, l \in N$ ,  $(G_5)$  implies that

$$G(fx_n, fx_m, fx_l) \leq G(fx_n, fx_m, fx_m) + G(fx_l, fx_m, fx_m).$$

Taking limit as  $n, m, l \to \infty$ , we get  $G(fx_n, fx_m, fx_l) \to 0$ . This shows that  $(fx_n)$  is a G-Cauchy

sequence in f(X). Since f(X) is G-complete, there exist  $u, v \in X$  such that  $fx_n \to v = fu$ . Again by using (3.1)

Again, by using (3.1)

$$\psi(G(fx_{n+1}, Tu, Tu)) = \psi(G(Tx_n, Tu, Tu))$$
  
$$\leq \psi(G(fx_n, fu, fu)) - \varphi(G(fx_n, fu, fu)).$$
(3.6)

Taking limit as  $n \to \infty$  and using continuity of  $\psi, \varphi$ , we obtain from condition (3.6) that

$$\psi(G(fu,Tu,Tu)) = 0$$

which implies that, G(fu, Tu, Tu) = 0 and so fu = Tu = v. Hence v becomes a point of coincidence of T and f.

For uniqueness, suppose there exists another point  $w \in X$  such that fx = Tx = w for some  $x \in X$ . Then,

$$\begin{split} \psi(G(v, w, w)) &= \psi(G(Tu, Tx, Tx)) \\ &\leq \psi(G(fu, fx, fx)) - \varphi(G(fu, fx, fx)) \\ &= \psi(G(v, w, w)) - \varphi(G(v, w, w)). \end{split}$$

So, it must be the case that,  $\varphi(G(v, w, w)) = 0$  and G(v, w, w) = 0, yielding that v = w.

If T and f are weakly compatible, then by Proposition 2.15, T and f have a unique common fixed point in X.

Corollary 3.2 is a generalization of the main part of the result [[1], Theorem 2.1].

**Corollary 3.2.** Let (X,G) be a complete *G*-metric space and let  $\psi$ ,  $\phi$  be altering distance functions. Suppose the mapping  $T: X \to X$  satisfies

$$\psi(G(Tx, Ty, Ty)) \le \psi(G(x, y, y)) - \varphi(G(x, y, y))$$
(3.7)

for all  $x, y \in X$ . Then T has a unique fixed point in X.

**Proof.** Taking f = I, the identity mapping in Theorem 3.1, we obtain the desired conclusion.

The following Corollary is a generalization of the result [[4], Theorem 2].

**Corollary 3.3.** Let (X,G) be a complete *G*-metric space and let  $\varphi$  be an altering distance function. Suppose the mapping  $T: X \to X$  satisfies

 $G(Tx, Ty, Ty) \le G(x, y, y) - \varphi(G(x, y, y))$ 

for all  $x, y \in X$ . Then T has a unique fixed point in X.

**Proof.** The proof can be obtained from the proof of Theorem 3.1 by considering f = I and  $\psi(t) = t$  for all  $t \in [0, \infty)$ .

**Remark 3.4.** Theorem 3.1 is an extension and generalization of Theorem 2.17 in metric spaces to G-metric spaces.

**Corollary 3.5.[12]** Let (X, G) be a complete *G* -metric space and let the mapping  $T : X \to X$  satisfies  $G(Tx, Ty, Ty) \le kG(x, y, y)$ 

for all  $x, y \in X$ , where  $0 \le k < 1$ . Then *T* has a unique fixed point in *X*. **Proof.** The proof follows from the Theorem 3.1 by taking f = I and  $\psi(t) = t$ ,  $\varphi(t) = (1-k)t$  where  $0 \le k < 1$  is a constant.

As an application of Corollary 3.2, we have the following results.

**Theorem 3.6.** Let (X,G) be a complete G -metric space and let the mapping  $T: X \to X$  be such that

$$G(Tx, Ty, Ty) \le \frac{G^2(x, y, y)}{1 + G(x, y, y)}$$
(3.8)

for all  $x, y \in X$ . Then T has a unique fixed point in X.

**Proof.** We define  $\psi, \varphi: [0, \infty) \to [0, \infty)$  by  $\psi(t) = t$  and  $\varphi(t) = \frac{t}{1+t}$ . Then  $\psi$  and  $\varphi$  are altering distance functions. We can rewrite (3.8) as follows:

$$\psi(G(Tx, Ty, Ty)) \le \psi(G(x, y, y)) - \varphi(G(x, y, y))$$

for all  $x, y \in X$ , which is condition (3.7) of Corollary 3.2. Now Corollary 3.2 applies to obtain the desired conclusion.

**Theorem 3.7.** Let (X,G) be a complete G -metric space and let  $T: X \to X$  be an onto mapping satisfying

$$\psi(G(Tx,Ty,Ty)) - \varphi(G(Tx,Ty,Ty)) \ge \psi(G(x,y,y))$$
(3.9)

for all  $x, y \in X$ , where  $\psi$ ,  $\varphi$  are altering distance functions. Then *T* has a unique fixed point in *X*. **Proof.** If  $x \neq y$  and Tx = Ty, then from (3.9) we have

$$0 \ge \psi(G(x, y, y))$$

which implies that  $\psi(G(x, y, y)) = 0$  and so G(x, y, y) = 0, yielding that x = y, a contradiction. Therefore, *T* is one to one. Also, it is onto. Hence  $T^{-1}$  exists and let  $S = T^{-1}$ .

Now applying condition (3.9), we obtain

$$\psi(G(x, y, y)) - \varphi(G(x, y, y)) = \psi(G(T(Sx), T(Sy), T(Sy))) - \varphi(G(T(Sx), T(Sy), T(Sy)))$$
  
$$\geq \psi(G(Sx, Sy, Sy))$$

for all  $x, y \in X$ .

So, it must be the case that

$$\psi(G(Sx, Sy, Sy)) \le \psi(G(x, y, y)) - \varphi(G(x, y, y))$$

for all  $x, y \in X$ .

This shows that S satisfies condition (3.7) of Corollary 3.2. Hence by Corollary 3.2, S has a unique fixed point, say  $u \in X$ . Then,

$$Su = u = T(Su) = Tu$$

which gives that u is also a fixed point of T.

For uniqueness, let v be another fixed point of T. Then,

$$Tv = v = S(Tv)$$

implies that Tv is also a fixed point of S. But u is the unique fixed point of S. So, u = Tv = v and therefore u is the unique fixed point of T.

The following Corollary is the result [[13], Theorem 2.2].

**Corollary 3.8.** Let 
$$(X,G)$$
 be a complete *G* -metric space and  $T: X \to X$  be an onto mapping satisfying  $G(Tx, Ty, Ty) \ge kG(x, y, y)$  (3.10)

for all  $x, y \in X$ , where k > 1 is a constant. Then T has a unique fixed point in X.

**Proof.** Taking 
$$\psi(t) = t$$
,  $\varphi(t) = \left(1 - \frac{1}{k}\right)t$  for all  $t \in [0, \infty)$ , we can rewrite condition (3.10) as follows:  
 $\psi(G(Tx, Ty, Ty)) - \varphi(G(Tx, Ty, Ty)) \ge \psi(G(x, y, y))$ 

for all  $x, y \in X$ , which is condition (3.9) of Theorem 3.7. Thus, the result follows from Theorem 3.7.

**Remark 3.9.** It is worth mentioning that the mappings satisfying condition (3.10) form a bigger category than the one of expansive mappings.

**Remark 3.10.** We see that Theorem 3.7 is a generalization of the result [[13], Theorem 2.2]. Furthermore, it is an extension of the result [[20], Theorem 1] in metric spaces to G-metric spaces.

**Corollary 3.11.** Let (X,G) be a complete G -metric space and  $T: X \to X$  be an onto mapping satisfying

$$\frac{G^{2}(Tx, Ty, Ty)}{1 + G(Tx, Ty, Ty)} \ge G(x, y, y)$$
(3.11)

for all  $x, y \in X$ . Then T has a unique fixed point in X.

**Proof.** Taking  $\psi(t) = t$ , and  $\varphi(t) = \frac{t}{1+t}$  for all  $t \in [0, \infty)$ , we can rewrite condition (3.11) as follows:  $\psi(G(Tx, Ty, Ty)) - \varphi(G(Tx, Ty, Ty)) \ge \psi(G(x, y, y))$ 

for all  $x, y \in X$ , which is condition (3.9) of Theorem 3.7. Thus, the conclusion of the Corollary follows from Theorem 3.7.

We give an example to illustrate Theorem 3.1.

**Example 3.12.** Let X = [0,1] and define  $G: X \times X \times X \rightarrow R^+$  by

$$G(x, y, z) = |x - y| + |y - z| + |z - x| \text{ for all } x, y, z \in X.$$

Then (X,G) is a *G*-metric space. Let  $T, f: X \to X$  be defined by

$$Tx = \frac{x}{4} - \frac{x^2}{8}, \ fx = \frac{x}{4} \ for \ all \ x \in X.$$

Let  $\psi, \varphi : [0, \infty) \to [0, \infty)$  be such that

$$\psi(t) = \frac{t}{2}, \, \varphi(t) = \frac{t^2}{2}, \, for \, all \, t \in [0, \infty).$$

It is a simple task to show that  $\psi, \phi$  are altering distance functions. Let  $x, y \in X$ . Without loss of generality, we assume that  $x \ge y$ . Then,

$$\begin{split} \psi(G(Tx,Ty,Ty)) &= \frac{1}{2}G(Tx,Ty,Ty) = \left|Tx - Ty\right| \\ &= \left| \left(\frac{x}{4} - \frac{x^2}{8}\right) - \left(\frac{y}{4} - \frac{y^2}{8}\right) \right| \\ &= \left(\frac{x}{4} - \frac{y}{4}\right) - \frac{1}{8}\left(x^2 - y^2\right) \\ &\leq \psi(G(fx,fy,fy)) - \frac{1}{8}(x - y)^2 \\ &= \psi(G(fx,fy,fy)) - \varphi(G(fx,fy,fy)). \end{split}$$

Thus, condition (3.1) of Theorem 3.1 is satisfied. Moreover,  $T(X) \subseteq f(X)$ , f(X) is G-complete and T, f are weakly compatible. Thus we have all the conditions of Theorem 3.1 and  $0 \in X$  is the unique common fixed point of T and f.

We furnish an example to illustrate the fact that T is onto in Theorem 3.7 is necessary.

**Example 3.13.** Let 
$$X = R$$
 and define  $G: X \times X \times X \to R^+$  by  
 $G(x, y, z) = |x - y| + |y - z| + |z - x|$  for all  $x, y, z \in X$ .  
Then  $(X, G)$  is a complete  $G$ -metric space. Let  $T: X \to X$  be defined by  
 $Tx = \begin{cases} 3x - 2 & for \ x \le 0, \\ 3x + 2 & for \ x > 0. \end{cases}$ 

Now,

$$|Tx - Ty| = |3x - 2 - 3y - 2| \text{ for } x \le 0 \text{ and } y > 0$$
  
=  $3 \left| y + \frac{4}{3} - x \right| \text{ for } x \le 0 \text{ and } y > 0$   
 $\ge 3 \left| y - x \right| \text{ for } x \le 0 \text{ and } y > 0$   
=  $3 \left| x - y \right| \text{ for } x \le 0 \text{ and } y > 0.$ 

Also,

 $|Tx - Ty| = 3|x - y| \text{ for } x, y \le 0$ 

and

Thus,

$$|Tx - Ty| = 3|x - y|$$
 for  $x, y > 0$ .

$$|Tx - Ty| \ge 3|x - y|$$
 for  $x, y \in X$ .

Therefore, we have

$$G(Tx, Ty, Ty) = 2|Tx - Ty| \ge 6|x - y| = 3G(x, y, y) \text{ for all } x, y \in X.$$

Define  $\psi, \varphi: [0, \infty) \to [0, \infty)$  by  $\psi(t) = \frac{t}{2}$ ,  $\varphi(t) = \frac{t}{3}$ , for all  $t \in [0, \infty)$ . Then  $\psi, \varphi$  are altering distance

functions such that

$$\psi(G(Tx, Ty, Ty)) = \varphi(G(Tx, Ty, Ty)) = \frac{1}{6}G(Tx, Ty, Ty) \ge \frac{1}{2}G(x, y, y) = \psi(G(x, y, y))$$

for all  $x, y \in X$ . Thus, we have all the conditions of Theorem 3.7 except the surjective condition. We observe that *T* has got no fixed point in *X*.

#### REFERENCES

- [1] H. Aydi, "A fixed point result involving a generalized weakly contractive condition in G-metric spaces," *Bulletin of Mathematical Analysis and Applications*, vol. 3, pp. 180-188, 2011.
- [2] Ya. I. Alber and S. Guerre-Delabriere, "Principle of weakly contractive maps in Hilbert spaces, in New Results in Operator Theory and Its Applications," I. Gohberg and Y. Lyubich, Eds., vol. 98 of Operator Theory: Advances and Applications, pp. 722, Birkhauser, Basel, Switzer-land, 1997.

[3] M. Abbas, and G. Jungck," Common fixed point results for non commuting mappings without continuity in cone metric spaces," J. Math. Anal. Appl., vol. 341, pp. 416-420, 2008.

- [4] C. T. Aage and J. N. alunke, "Fixed points for weak contractions in G-metric spaces, "Applied Mathematics E-Notes, vol. 12, pp. 23-28, 2012.
- [5] I. Beg and M. Abbas, "Coincidence point and invariant approximation for mappings satisfying generalized weak contractive condition," *Fixed Point Theory and Applications*, vol. 2006, Article ID 74503, 7 pages, 2006.
- [6] V. Berinde, "Common fixed points of non commuting discontinuous weakly contractive mappings in cone metric spaces," *Taiwanese Journal of Mathematics*, vol. 14, pp. 1763-1776, 2010.
- [7] G. V. R. Babu, B. Lalitha, and M. L. Sandhya, "Common fixed point theorems involving two generalized altering distance functions in four variables,"

Proceedings of the Jangjeon Mathematical Society, vol. 10, pp. 83-93, 2007

- [8] A. Djoudi and A. Aliouche, "Common fixed point theorems of Gregus type for weakly compatible mappings satisfying contractive conditions of integral type," J. Math. Anal. Appl., vol. 329, pp. 31-45, 2007.
- [9] G. Jungck, "Compatible mappings and common fixed points," International Journal of Mathematics and Mathematical Sciences, vol. 9, pp. 771-779, 1986.
- [10] M. S. Khan, M. Swaleh, S. Sessa, "Fixed point theorems for altering distances between the points," Bull. Aust. Math. Soc., vol. 30, pp. 1-9,1984.
- [11] Z. Mustafa and B. Sims, "A new approach to generalized metric spaces," Journal of Nonlinear and convex Analysis, vol. 7, pp. 289-297, 2006.
- [12] Z. Mustafa, "A new structure for generalized metric spaces with applications to fixed point theory," Ph.D. thesis, The University of Newcastle, Callaghan, Australia, 2005.
- [13] Z. Mustafa, F. Awawdeh and W.Shatanawi, "Fixed point theorem for expansive mappings in G-metric spaces," Int. J. Contemp. Math. Sciences, vol. 5, pp. 2463-2472, 2010.
- [14] S. V. R. Naidu, "Some fixed point theorems in metric spaces by altering distances," Czechoslovak Mathematical Journal, vol. 53, pp. 205-212, 2003 .
- [15] J. Olaleru, "Common fixed points of three self-mappings in cone metric spaces," *Applied Mathematics E-Notes*, vol. 11, pp. 41-49, 2011.
- [16] B. E. Rhoades, "Some theorems on weakly contractive maps," Nonlinear Analysis: Theory, Methods and Applications, vol. 47, pp. 2683-2693, 2001
- [17] Sushanta Kumar Mohanta, "Some fixed point theorems in G-metric spaces," An. St. Univ. Ovidius Constanta, vol. 20, pp. 285-306, 2012.
- [18] K. P. R. Sastry and G. V. R. Babu, "Some fixed point theorems by altering distances between the points," *Indian Journal of Pure and Applied Mathematics*, vol. 30, pp. 641-647,1999.
- [19] K. P. R. Sastry, S. V. R. Naidu, G. V. R. Babu, and G. A. Naidu, "Generalization of common fixed point theorems for weakly commuting map by altering distances," *Tamkang Journal of Mathematics*, vol. 31, pp. 243-250, 2000.
- [20] Shang Zhi Wang, Bo Yu Li, Zhi Min Gao and Kiyoshi Iseki, "Some fixed point theorems on expansion mappings," Math. Japonica, vol. 29, pp. 631-636,1984.